جامعة الملك سعود

كلية المجتمع بحريملاء

الاختبار الثاني: معمل نظم ادارة قواعد البيانات حاسب 212

الاسم:                   الرقم:               ت:12/5/2008م

1)- The DUAL table is 
a- Accessible to all users        b- Accessible only to the SYS account

c- Accessible only to the SYSTEM account

d- Accessible only to the database designer  e- Not accessible to any users

2) when filtering with a WHERE clause, which of the following comparison operators can be used in the filtering condition?
a- >=               b- <=            c- And        d- Between   e-All of the above
3) what is the definition of a "savepoint"?

a- A place where Oracle should stop processing until you tell it to continue.

b- A place within a set of DML commands to which Oracle can return, nullifying changes made beyond that point.
c- A parameter used to indicate when oracle needs to back up and restore its database

d- None of the above

4) which of the following is a valid condition?

a- WHERE 'Smith'               b- WHERE 'Job_Description'= 'Manager'

c-WHERE SaLaRy= SYSDATE  d-WHERE LAST_NAME BETWEEN 'K' AND 9

d-WHERE HIREDATE BETWEEN '02-JAN-02' AND '01-JAN-01'

5) Which of the following shows the wildcards for a single character and multiple characters, respectively?

a- ?, *              b- _, %             c- ?, _      d- ?, %            e- %, _

6) On which line would a command using the following syntax fail?

UPDATE table_name

WHERE column_name = condition_to_be_met

SET column_name = new_value

ORDER BY column_name;

a- 1                   b- 2                 c- 3              d-4          e- the command would succeed

7) Which of the following SQL commands fall into the category of transaction control?

a- GRANT and REVOKE.                      b) SELECT

c- CREATE, ALTER, DROP, RENAME, and TRUNCATE

d- COMMIT, ROLLBACK, and SAVEPOINT

e- INSERT, UPDATE, and DELETE

8) To change data in an Oracle table, the correct command is

a- INSERT table_name SET column_name = new_value WHERE condition;
b- UPDATE table_name SET column_name= new_value WHERE condition;

c- UPDATE column_name SET column_name= new_value WHERE condition;

d- UPDATE table_name SET table_name= new_value WHERE condition;

e- INSERT column_name SET column_name= new_value WHERE condition;

9) On which line would a command using the following syntax fail?

SELECT DISTINCT salesperson

FROM test_purchase

ORDER BY salesperson;

WHERE purchase_date BETWEEN 

'01-JUL-2003' AND '15-JUL-2003'

a- 1               b-2              c- 3               d-4               e- The command would succeed
10) by issuing a SAVEPOINT command, you 

a- save the contents of a table up to that point so that they can never be rolled back.

b- set a named marker to which a subsequent rollback can take place by using a ROLLBACK command

c- truncate the table to where the savepoint occurs

11) the DUAL table consists of 

a- Two columns and two rows.                          b- Two rows and one column

c- Two columns and one row.                            d- One column and one row
12) the correct syntax of the CHANGE command is

a- C[HANGE] column_name FORMAT Ann WORD_WRAP

b- C[HANGE] separator_character old_text [separator_character new_text]

c- CHANGE column_name FORMAT Ann WORD_WRAP

d- C[HANGE] old_text separator_character [new_text separator_character]

13) which of the following statements is true?

b- ROUND(4.1, 0) < TRUNC(4.2, 0)

c- ROUND(8.9, 0) > TRUNC(8.9, 0)

d- ROUND(8.9, 1) > TRUNC(8.95, 2)

e- ROUND(5.5, 0) < TRUNC(5.5, 0)

14) which of the following functions would return the last day of the year 2002?

a- SELECT ADD_MONTHS(LAST_DAY ('14-OCT-02'),1) FROM DUAL;

b- SELECT ADD_MONTHS(LAST_DAY ('15-OCT-02'),-1) FROM DUAL;

c- SELECT ADD_MONTHS(LAST_DAY ('16-OCT-02'),2) FROM DUAL;

d- SELECT ADD_MONTHS(LAST_DAY ('17-OCT-02'),-2) FROM DUAL;

e- SELECT ADD_MONTHS(LAST_DAY ('18-OCT-02'),1) FROM DUAL;

15) which will be the result of using the ROUND function on the number 3.5 to 0 places? (ROUND (3.5, 0))

a- 3.5               b- 3              c- 4             d- you will receive an error message    e- 3.0

16) All of the following are correct regarding PL-SQL, except one:

a- PL/SQL is the procedure extension to Oracle SQL. 
b- It is used to access an Oracle database from various environments 
c- PL/SQL provides high-level language features such as block structure
d- PL/SQL not provide loop statements.

17) PL/SQL exists as a standalone language. 
a- True                                                 b- False
18) The basic unit in PL/SQL is a block. 
a- True                                                  b-False

19) In PL/SQL, the Executable section found in:-

a- Declare                b- Begin                     c- Exception           d- a +b
20) The only SQL statements allowed in a PL/SQL program are 
a- SELECT              b- CREATE     c- DELETE       d- a+c
